
MN-150 1 P.T.O. 

Seat No. :  _______________
  

MN-150 
March-2019 

M.Com., Sem.-IV 

509 EA/ED/EE : International Accounting 
 

Time : 2:30 Hours]  [Max. Marks : 70 
 

1. (A)      ?   . 7 

         

      . 

 (B)     . 7 

        

            . 

 (C)     : ( ) 4 

  (i)     _________   . 

   (a)   (b)   

   (c)    (d)    

  (ii) _________     . 

   (a)   (b)   

   (c)  (d)   

  (iii)    _________    . 

   (a)   (b)   

   (c)    (d)    

  (iv)    _________   . 

   (a)  (b)  

   (c)    (d)     
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  (v)      _______   .  

   (a)   

   (b)    

   (c)   

   (d)    

  (vi)         ?  

   (a)        . 

    (b)     . 

   (c)     . 

   (d)    

 

2. (A)     (IFRS)   . 7 

          

      ?   . 

 (B) IFRIC   . 7 

       

      . 

 (C)     : ( ) 4 

  (i)     (IFRS) _________    

 . 

   (a) IASB (b) IASC 

   (c) AICPA (d) ICAI 

  (ii)      _________,    

  ,       . 

   (a) IFRIC (b) IASB 

   (c) IASC (d) ICAI  
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  (iii)      _________   

   . 

   (a)    

   (b)   

   (c)    

   (d)    

  (iv)      _________    

  . 

   (a)    

   (b)     

   (c)    

   (d)    

  (v) _________          -  . 

   (a)    

   (b)   

   (c)    

   (d)    

  (vi)    -1 (IFRS-1) _________   . 

   (a)        

   (b)    

   (c)   

   (d)   
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3. (A)     .         
  :     14  

  (i)       
  (ii) . 31-3-2018          - 

    
  (iii)      . 31-3-2018    . 

 
  

(`) 

 
(`) 

   :   

  2,00,000 15,000 

  18,000 700 

   14,000 200 

  1,80,000 4,000 

   5,70,000            – 

 9,82,000 19,900 

  :             – 

   3,80,000            – 

  1,80,000            – 

   3,60,000 8,000 

  17,000 400 

              – 9,000 

  45,000 2,500 

 9,82,000 19,900 

      
   . 1-4-2017 1 $ = ` 66 

   .31-3-2018 1 $ = ` 62 

    1 $ = ` 64 

       1 $ = ` 60 .   . 1-4-2017   
 . 

               
  (i)    . 7 

  (ii)   :     7 
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 (B)     : (  ) 3 

  (i)          _______. 

   (a)   (b)   

   (c)   (d)   

  (ii) _________           

. 

   (a)   (b)   

   (c)   (d)    

  (iii)   ..        £ 1 = ` 96    

       £ 1 = ` 95 .     

_________   .  

   (a)  

   (b)  

   (c)     

   (d)        

  (iv) _________            

. 

   (a)  

   (b)   

   (c)  

   (d)    

  (v)     _________ . 

   (a)    

   (b)   

   (c)   

   (d)    
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4. (A)   . – A       – B   
. 31-3-2018        : 14 

 
 
. 

A. . . 
(`) 

B. . . 
(`) 

I.       

 1.      

  (a)   ( ` 100  $ 100  
  ) 

 16,00,000 2,000 

  (b)       

      3,00,000 2,000 

   -     1,60,000 3,000 

 2. -     

   10%   2,00,000       – 

   4%      3,600 

 3.      

     1,40,000 1,200 

     50,000 800 

       10,000 400 

  24,60,000 13,000 

II.     

 1. -     

  (a)   –   6,80,000 3,200 

  (b) -     

   (i)    3,20,000 – 

   (ii) B. .   

    (B . .  60% ) 

 12,00,000 – 

 2.      

     80,000 4,500 

     1,00,000 1,000 

     20,000 1,300 

     60,000 3,000 

  24,60,000 13,000 
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    : 

  (1) . 1-4-2017   A  B       B .   

   $ 600  -      

$ 1000 .  

  (2)     . 

   . 1-4-2017 $ 1 = ` 66 

   . 31-3-2018 $ 1 = ` 62  

    $ 1 = ` 64 

   . 31-3-2018   A .      . 

                      

  (i)    .   7 

  (ii)     .  7 

 (B)     : ( )   3 

  (i) _________           

      . 

   (a)    

   (b)    

   (c)   

   (d)   

  (ii) _________           . 

   (a)    

   (b)    

   (c)   

   (d)   



MN-150 8 P.T.O. 

  (iii)     ,       

     _________    . 

   (a)   (b)   

   (c)   (d)   

  (iv)         = ________ 

   (a) 
    
    

   (b) 
   
    

   (c)          

   (d)     +     

  (v) _________         

         .  

   (a)     

   (b)     

   (c)    

   (d)   

_____________ 
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509 EA/ED/EE : International Accounting 
 

Time : 2:30 Hours]  [Max. Marks : 70 

 
1. (A) What is International Accounting ? Explain its scope. 7 

                    OR 

  Explain characteristics of International Accounting. 

 (B) Discuss importance of International Accounting. 7 

                   OR 

  Distinguish between International Accounting and Domestic Accounting. 

 (C) Select appropriate alternative : (any four) 4 

  (i) Need of International Accounting arised due to _________. 

   (a) European Union (b) Multinational Corporation 

   (c) Global Capital Market (d) All of these 

  (ii) _________ is international financial instrument. 

   (a) Equity share (b) Preference share 

   (c) Bond (d) Depository receipts  

  (iii) International Accounting includes _________. 

   (a) Transfer price (b) Consolidated Accounts 

   (c) Exchange rate difference (d) All of these  

  (iv) Foreign currency risk arises in _________. 

   (a) Export  

   (b) Import  

   (c) Foreign branch transactions 

   (d) All of these  

  (v) For which of the following form, International Accounting is not helpful to 

the multinational corporations ? 

   (a) Transfer price (b) Exchange rate differences 

   (c) Consolidated accounts (d) Competition between domestic entities 
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  (vi) Which of the following is correct for International Accounting ?  
   (a) Principles and conventions are the same across the world. 
    (b) Statutory bodies are same. 
   (c) Professional bodies are same. 
   (d) All of these 
 
2. (A) Explain the scope of IFRS. 7 
         OR 
  What is Convergence ? Explain its need. 

 (B) Write a short note on IFRIC. 7 
              OR 
  Discuss challenges to convergence. 

 (C) Select appropriate alternative : (any four) 4 
  (i) IFRS are issued by _________ 
   (a) IASB (b) IASC 
   (c) AICPA (d) ICAI 

  (ii) _________ is engaged in identification, discussion and resolution of financial 
reporting issues within the framework of IFRS. 

   (a) IFRIC (b) IASB 
   (c) IASC (d) ICAI  

  (iii) _________ Indian entities are covered under convergence to IFRS. 
   (a) Listed entities (b) Banking entities 
   (c) Insurance companies (d) All of these  

  (iv) _________ is not included in financial report prepared under IFRS. 
   (a) Statement of financial affairs 
   (b) Statement showing changes in equity 
   (c) Cash flow statement 
   (d) Funds flow statement  

  (v) Exchange of various currencies at forward rate is called _________. 
   (a) Foreign rate  (b) Exchange rate 
   (c) Forward rate (d) Forward exchange contract  

  (vi) IFRS-1 is related to _________ 
   (a) First time adoption of IFRS 
   (b) Share based payments 
   (c) Operating segments 
   (d) Business combinations 
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3. (A) Shreya Ltd. has it branch in U.S.A. From the following information of head office 

and branch, prepare :   14  

  (i) Branch Trial Balance converted in Indian rupees. 

  (ii) Statement of Profit and Loss incorporating branch transactions for the year 

ended 31st March, 2018.  

  (iii) Balance Sheet as at 31st March, 2018 incorporating branch assets and 

liabilities : 

Particulars 
Head Office 

(`) 

Branch 

(`) 

Debit balances :   

 Fixed Assets 2,00,000 15,000 

 Debtors 18,000 700 

 Bank Balance  14,000 200 

 Cost of Operation 1,80,000 4,000 

 Branch Account 5,70,000          – 

 9,82,000 19,900 

Credit Balances :           – 

 Share Capital 3,80,000          – 

 Reserves 1,80,000          – 

 Revenue from operation 3,60,000 8,000 

 Creditors 17,000 400 

 Head Office A/c.          – 9,000 

 Loan A/c. 45,000 2,500 

 9,82,000 19,900 

   Exchange Rate 

   1-4-2017 1 $ = ` 66 

   31-3-2018 1 $ = ` 62 

   Average 1 $ = ` 64 

   On the date of purchase of fixed assets 1 $ = ` 60 loan was acquired by branch 

on 1-4-2017 

OR 

  (i) Explain the need of Conversion. 7 

  (ii) Write a note on : Forward Exchange Contracts. 7 
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 (B) Select appropriate alternative : (any three) 3 

  (i) Ratio of exchange of currencies of two different countries is called as 

_______. 

   (a) Exchange rate 

   (b) Fair value 

   (c) Foreign currency 

   (d) Foreign operation 

  (ii) _________ transaction protects risk of loss from International transactions. 

   (a) Forward contracts 

   (b) Import transactions 

   (c) Export transactions 

   (d) All of these   

  (iii) An Indian trader buys goods from U.K. when exchange rate was £ 1 = ` 96 

and he makes payment on later date when exchange rate was £ 1 = ` 95, he 

will record _________ from foreign transaction.  

   (a) Profit 

   (b) Loss 

   (c) Profit and loss both 

   (d) He will not record profit or loss.  

  (iv) Under _________ approach, the change in exchange rate is recorded as a 

separate transaction. 

   (a) Double transaction 

   (b) Single transaction 

   (c) Deferral 

   (d) All of these  

  (v) Origin of translation problem is _________. 

   (a) Bimetallism 

   (b) Gold standard 

   (c) Brettonwood system 

   (d) Flexible exchange rate   
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4. (A) Following are the balance sheets of Indian Holding Company – A Ltd. And 

American Subsidiary Company – B Ltd. as on 31-3-2018 : 14 

Particulars 
Note 
No. 

A Co. Ltd. 

(`) 

B Co. Ltd. 

(`) 

I. Equity and Liabilities    

 1. Shareholders’ Funds    

  (a) Share capital (shares of ` 100 
each and $ 100 each) 

 16,00,000 2,000 

  (b) Reserves & Surplus    

   General Reserve  3,00,000 2,000 

   Balance as per statement of 
Profit and Loss 

 1,60,000 3,000 

 2. Non-current Liabilities    

   10% Debentures  2,00,000 – 

   4% Long term borrowings   3,600 

 3. Current Liabilities    

   Creditors  1,40,000 1,200 

   Bills Payable  50,000 800 

   O/s Expenses  10,000 400 

Total  24,60,000 13,000 

II. Assets    

 1. Non-current assets    

  (a) Fixed assets – Tangible  6,80,000 3,200 

  (b) Non-current Investments    

   (i) Government Securities  3,20,000 – 

   (ii) Investment in B. Co. Ltd.  

    (60% of equity shares of 
B. Co. Ltd) 

 12,00,000 – 

 2. Current Assets    

   Stock  80,000 4,500 

   Debtors  1,00,000 1,000 

   Bills Receivables  20,000 1,300 

   Bank  60,000 3,000 

Total  24,60,000 13,000 
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  Additional Information : 

  (1) On 1-4-2017, A Ltd. had acquired shares of B Ltd. on that date B Co. Ltd. 

had balance of General Reserve $ 600 and credit balance as per statement of 

profit and loss $ 1,000. 

  (2) Exchange rates were  

   1-4-2017 $ 1 = ` 66 

   31-3-2018 $ 1 = ` 62  

   Average $ 1 = ` 64 

   Prepare consolidated balance sheet of A. Co. Ltd. as at 31-3-2018. 

OR 

 (A) (i) Explain objectives of Business Combination. 7 

  (ii) Explain Accounting treatment of foreign inflation. 7 

 (B) Select appropriate alternative : (any three)  3 

  (i) Under _________ assets of vendor company are incorporated in the financial 

statements of purchasing company without making any change in its values. 

   (a) Amalgamation in nature of merger 

   (b) Amalgamation in nature of purchase  

   (c) Pro-rata consolidation 

   (d) Line by line consolidation  

  (ii) Under _________, goodwill or capital reserve is recorded by purchasing 

company. 

   (a) Amalgamation in nature of merger 

   (b) Amalgamation in nature of purchase  

   (c) Pro-rata consolidation 

   (d) Line by line consolidation  

  (iii) When present monetary value of assets is less than future monetary value due 

to inflation, the difference is recorded as _________ 

   (a) Holding gain (b) Holding loss 

   (c) Future gain (d) Future loss  
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  (iv) Conversion factor under current purchasing power accounting = ________ 

   (a) 
Index at the end of Accounting Year

Index of the date of transaction  

   (b) 
Index of the year of transaction

Index of Accounting Year  

   (c) Index of Accounting Year  Index of the year of transaction 

   (d) Index of Accounting Year + Index of the year of transaction  

  (v) Under _________ method financial assets and financial liabilities are 

classified into non-monetary items and monetary items. 

   (a) Current purchasing power 

   (b) Current cost accountancy 

   (c) Replacement cost accountancy 

   (d) Book value  

_____________  
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